MAT1S05-0S/08 045 Test 48 Pt Name (Lash First)

Show a\ worle , Including wndications of merd=! 5\1?5 o the ll'\eo\ or Provlded Label 4'0,
and SePa.rw\-e, c\ear\g each Par*' of eac\~ PrDHem ) 0T9aNIZing your wor’e: well. [Box\ each short

- Snal response regjiested. (amdm*h\ng dse ). Use- ?mlaermaﬂ%me;hm& notatior s * Sumba\ ho L
= "expresaon representing symbol * = -+, DO"L" misuse equal S\ghs 5 but do ‘connect CCLua\
wxpressions wilh equal signs. 61ve eXack answers , not decimal q ?ro)(lmahons (unless

quucs\ed) No*hm onthe fest may bej\lshﬁgd or- SUPPW'\'%d by kchwv\ogy au+Pu’(" ut—

__you may use 'l'80hnol093 fo chedk your work, “This s q festabout thinking | reasonidg, and

g00d communi catyon of'\“v\e cess. You may nu‘l’ access the web or any exishing Compule o

0 §o-mEshes (B Evauate T O exachhy ;- gt s mumencal voke,
@) Evaludgre Sf(ﬂ&% ) Evaliate the average value of £ ﬁgr octetiz

_exacHy . give ts numericel value.

v d) t |0 1‘%- 73 '7- ﬂ% This fable are the datq ponts for 'Hne “"'4' Riemann
s@lo ™ o - 0| division of this interval, Use the midpoint rule (not

. the trapezoid rule ) to-estimate the avevage valve of pact

&) as accurately as £ s\\olb G\Ve the exact estimate and its numer‘ca\ value

using only thege dbty Poun B
712
dx,  b) Evaluate.- g SX o (exactly), -

@) a) Evaludte g @"ZX} Vs (___3 \13

@ o Evaluate SXX9 dx. ) Doss g -—‘9 = ln®>’3 - tXP\aM

@ Flnd the area be\ween‘llﬂe CunfeS U”CDSX and g—'Sln‘x over 'Hne m‘:erval
0 €X¢&W2, |

O Use the Riemann sum limit o\eﬁm’non +o evaluate S B=x)dx,
[ Recall Shi=n , =i=nmy =it non )('Lm\) ]

=1 L= (,1: '

After mmp\e'hnq the exam | read and sign the fol owing pleo\ge |{: it apphes‘b Jour

Dunng This examination, all work has been my ewn and T have nU‘f‘OPenea[ any softuwiare
other than MAPLE or my computer: T give my word as a decent I’l\lman being -H,q{..
I have not resorfed 1o any ethically queshonable means of impraving my performance
ot fhat of any dgne else o this examination | nor- will T affer® C°"’P'e+ﬁ o

Date : March 2 ,2000  Signedure



| > with(student): f:=t->12*%t*sin(6%t); middlebox(f(x),x=0..Pi/3,2);
fi=t—>12¢sin(61¢)

1> plot([cos(x),sin(x)],x=0..Pi/2,color=black);
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